# Sanction Register for Scholarship

Government of Chhattisgarh

Scholarship Scheme : Post Matric ST Scholarship Category : ST Institute Name : Govt. Girts College Dantewada Academic Year : 2020-21



State : Government of Chhattisgarh

Sanction Number : N/10/1539/2/7/100229

Sanction Date : 20/01/2021

Applications Type : Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1769372 RA	MILA KASHYAP	Female	B. A./Arts/I	Fresh	7	300	2100	0	1722	1722	3822
1836893 MA		Female	B. A./Arts/I	Fresh	8	300	2400	0	1747	1747	4147
1751504 MO		Female	B. A./Arts/I	Fresh	8	300	2400	0	1747	1747	4147
1785857 SAF		Female	B. A./Arts/I	Fresh	8	300	2400	0	1747	1747	4147
1814044 SHE	ELA SODI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1747	1747	3847
1759922 BAS	ANTEE KASHYAP	Female	B. A./Arts/I	Fresh	8	300	2400	0	1747	1747	4147
1826023 KAM	LA VETTI	Female	B. A./Arts/I	Fresh	7	300	2100	0	1722	1722	3822
1777833 DEE	PIKA SODI	Female	B. A./Arts/I	Fresh	8	300	2400	0	1747	1747	4147
1777482 PHU	MATI TARMA	Female	B. A./Arts/I	Fresh	6	300	1800	0	1747	1747	3547
1828276 AAS	ATT KOWASI	Female	B. A./Arts/I	Fresh	8	300	2400	0	1747	1747	4147
1856388 EMA	NI YALAM	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1750286 PAM	11 MARKAM	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1761347 RAMS	HILA MANDAVI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1772	1772	3872
1785713 KAWA	ASI RENU	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1809173 ANIT	A KADTI	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1791796 URMI	LA KADTI	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1769422 GEET	A KASHYAP	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172

## claration :

rtified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ial no. 1 to ...... I do here by sanctioning a sum of Rs. .......Out of which Rs......as maintenance allowance and Rs. ......as tuition and other fees. Printed copy of online iolarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the ididate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts (other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

ce :

(Signature & Seal of Head of the Institution) Name (Capital Leters) a Girls College (Dantewada Distt. South Bastar (C.G.)

This Sanction is generated by Scholarship Portal. Printed on 1/20/2021

Page 1/2

## nction Register for Scholarship

mment of Chhattisgarh

100229

Scholarship Schem	e: Post Matric ST Scholarship			State	Government of Chhattisgarh
Categor	: ST			Sanction Number :	N/10/1539/2/7/100229
Institute Name	Govt. Girls College Dantewada			Sanction Date :	20/01/2021
Academic Yea	2020-21			Applications Type :	Fresh
ation ID Stude	nt Name Gender	Course Type	e No. of Rate	Maintenence Tuition Fee Other B	ee Total Fee Total Amount

ication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1823603 SUMA	N NEGI	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1772	1772	3872
1833076 KAJAL	TETA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1859259 VAND	ANA BHOGAMI	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1785383 SARIY	'AM ANITA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1800746 MANJ	U MODIYAM	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1857256 VASU	NDRA KUNJAM	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1772	1772	3872
1856165 JAMU	NA KASHYAP	Female	B. Sc./Science/I	Fresh	7	300	2100	0	1772	1772	3872
1745020 JAYBA	TI GATA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1772	1772	4172
1362201 PRATI	BHA BHOGAMI	Female	M. A./Pol. Science/I	Fresh	5	530	2650	0	1727	1727	4377
						Total :	59950	0	45727	45727	105677

## claration :

> (Signature & Seal of Lead of the Institution) Name (Capital Leters) arms Girls College Capital words Dist. South Bastar (C.G.)

This Sanction is generated by Scholarship Portal. Printed on 1/20/2021

## inction Register for Scholarship

mment of Chhattisgarh

100335

Scholarship Scheme Post Matric ST Scholarship Category ST Institute Name Govt. Girls College Dantewada Academic Year 2020-21

 State :
 Government of Chhattisgarh

 Sanction Number :
 R/10/1539/2/7/100335

 Sanction Date :
 25/01/2021

 Applications Type :
 Renewal

ication ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
305514 Meena No Surname	Female	M. A./Hindi/II	Renewal	5	530	2650	0	1687	1687	4337
964552 Sarojni Sodi	Female	M. A./Pol. Science/II	Renewal	5	530	2650	0	1687	1687	4337
637863 SUDHA WACHAM	Female	M. A./Hindi/II	Renewal	5	530	2650	0		1687	4337
1448690 PRAMILA TELAM	Female	M. A./Hindi/II	Renewal	5	530	2650	0		1687	4337
1348039 SUSHILA KUDIYAM	Female	M. A./Hindi/II	Renewal	5	530	2650		1007	1687	
1183835 MAMILA NO SURNAME	Female	M. A./Hindi/II	Renewal	5	530				1687	4337
1448904 SANGEETA NAG	Female	M. A./Hindi/II	Renewal	5	530			1007		
1507164 PRERNA KUPAL	Female	M. A./Pol. Science/II	Renewal	5	530			1007	1687	
1642382 ANAMIKA SAMRATH	Female	B. A./Arts/II	Renewal	4	300			1007	1687	
1635540 MANISHA PUNEM	Female	B. A./Arts/II	Renewal	4	300					
1853527 KAVITA NAG	Female	B. A./Arts/II	Renewal	4	300			1662		
1694622 CHAMELI NAG	Female	B. A./Arts/II	Renewal	4	300			0 1662		
1634066 LAXMI DUDHI	Female	B. A./Arts/II	Renewal	4				0 1662		2 2862
1634684 RUBEE MANDAVI	Female	B. A./Arts/II	Renewal	· · · ·	300			0 1662	166	2 286
1632049 BABITA NAG	Female	B. A./Arts/II		4	300		0	0 1687	168	7 288
1681511 MADKAM SONI	Female		Renewal	4	300		0	0 1687	168	7 288
1637657 KAMLA OYAM		B. A./Arts/II	Renewal	4	300	120	00	0 1687	7 168	7 288
1037037 KAPILA OTAM	Female	B. A./Arts/II	Renewal	4	300	120	00	0 168	7 168	7 288

### ration :

ed that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online rship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the late have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts her regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature Seal of Head of the Institution) Name (Capital Leters) : PRINCIPAL

This Sanction is generated by Scholarship Portal Printed on 1/25/2021

# iction Register for Scholarship

ernment of Chhattisgarh

 Scholarship Scheme
 Posl Matric ST Scholarship

 Category
 ST

 Institute Name
 Govt. Girls College Dantewada

 Academic Year
 2020-21

State : Government of Chhattisgarh Sanction Number : R/10/1539/2/7/100335

Sanction Date : 25/01/2021

Applications Type : Renewal

uplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1635389	AJESHWARI MOURYA	Female	B. A./Arts/II	Renewal	4	300	1200	0	1687	1687	2887
1628402	MADKAM HEENA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	1712	1712	2912
1481053	UKESHWARI RAWTE	Female	B. Sc./Science/II	Renewal	4	300	1200	0	1712	1712	2912
1634174	KISKE BINDESHWARI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	1712	1712	2912
1634655	BARSE SARITA	Female	B. Sc./Science/II	Renewal	4	300	1200	0	1712	1712	2912
1635379	PODIYAM SONI	Female	B. Sc./Science/II	Renewal	4	300	1200	0	1712	1712	2912
1635641	MASE MANDAVI	Female	B. Sc./Science/II	Renewal	4	300	1200	C	1712	1712	2912
1621106	SODI SAVITRI	Female	B. Sc./Science/II	Renewal	4	300	1200	C	1712	1712	2912
1624509	MADKAM JAMUNA	Female	B. Sc./Science/II	Renewal	4	30	1200	) (	1712	1712	2912
1538985	HAPKA JAISHRI	Female	B. Sc./Science/III	Renewal	4	30	120	) (	2112	2112	3312
1522310	KAMNI MANDAVI	Female	B. Sc./Science/III	Renewal	4	30	0 120	) (	2112	2112	3312
1556863	YALAM PRIYANKA	Female	B. Sc./Science/III	Renewal	4	30	0 120		0 2112	2112	3312
1523853	KAWASI DEVE	Female	B. Sc./Science/III	Renewal	4	30	0 120	0	0 2112	2112	3312
1530842	VIMLA KAWASI	Female	B. Sc./Science/III	Renewal	4	30	0 120	0	0 2112	2112	3312
1529231	BHUNESHWARI DHRUW	Female	B. Sc./Science/III	Renewal	4	30	0 120	0	0 2112	2112	3312
1556962	SANGEETA KUNJAM	Female	B. Sc./Science/III	Renewal	5	30	00 150	0	0 2112	2112	3612
154658	6 AANTRIKA KORETI	Female	B. Sc./Science/III	Renewal	4	1 31	00 120	0	0 2112	2112	3312
157247	1 TUBESHWARI BAGHEL	Female	B. Sc./Science/III	Renewal		4 3	00 120	00	0 2112	2112	3312

## claration :

ified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from in no. 1 to ...... I do here by sanctioning a sum of Rs. .........Out of which Rs.......as maintenance allowance and Rs. .......as tuition and other fees. Printed copy of online plarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the didate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts (other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature beal of Head of the Institution) Name (Capital Leters) : PRINCIPAL

34(146

and and

telent

Govt. Mahandra Karma Gints Conege This Sanction is generated by Scholarship Partal. Printed on 1/25/2021

tion Register for Scholars	ship							State : Gov	100335	ttisgarh
Category : ST	ic ST Scholarsh s College Dante						Sanction Nu Sanction Applications	mber: R/10 Date: 25/0	/1539/2/7/10033 1/2021 ewal	.5
Academic Year 2020-21	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee		Total Amount
CATION ID		D. C. /Cringen/III	Renewal	4	300	1200	0	2112	2112	3312
1545956 SUMITRA MANJHI	Female	B. Sc./Science/III	Renewal	4	300	1200	0	2112	2112	3312
1539284 TULSI KARTAM	Female	B. Sc./Science/III	Renewal	4	300	1200	0	2112	2112	3312
1539552 TULSIBATI NETAM	Female	B. Sc./Science/III	Renewal	4	300	1200	0	2112	2112	3312
1540432 SALONI VETTY	Female	B. Sc./Science/III	Renewal	5	300	1500	0	2112	2112	3612
1523320 POOJA KORAM	Female	B. Sc./Science/III	Renewal	4	300	1200	0	2112	2112	3312
1509973 MEENA BAGHEL	Female	B. Sc./Science/III	Renewal	4	300	1200	0	2112	2112	3312
1539460 VARSHA KARAM	Female	B. Sc./Science/III	Renewal	4	300	1200	0	2112	2112	3312
1550616 RANJITA JAWWA	Female	B. Sc./Science/III	Renewal	4	300	1200	0	2087	2087	3287
1629816 MAMTA KUNJAM	Female	B. A./Arts/III	Renewal	4	300	1200	0	2087	2087	3287
1051297 RAJKUMARI MARKAM	Female	B. A./Arts/III		5	300	1500	0	2087	2087	3587
1426119 URMILA PUNEM	Female	B. A./Arts/III	Renewal	5	300	1500	0	2062	2062	3562
933055 SHYAMBATI NOSURNAME	Female	B. A./Arts/III	Renewal	4	300	1200	0	2062	2062	3262
1562239 KAMALDAI KASHYAP	Female	B. A./Arts/III	Renewal	4	300	1200		2062	2062	3262
1544857 SUNITA NETAM	Female	B. A./Arts/III	Renewal	4	300	1200		2062	2062	3262
1557808 ERMA BHAGYASHRI	Female	B. A./Arts/III	Renewal		300	1200		2062	2062	3262
1661973 PAWANI NAG	Female	B. A./Arts/III	Renewal	4		1200		2087	2087	3287
1508967 SHAMO KARMA	Female	B. A./Arts/III	Renewal	4	300	and the second sec		2087	2087	3287
1686158 KU SAVITA	Female	B. A./Arts/III	Renewal	4	300	1200	L	2307		

#### ration :

d that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 0.1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online thip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts er regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

LINNE AND DER DOLL WITH THE RU RE.

This Sanction is generated by Scholarship Portal. Printed on 1/25/2021

on Register for S		hip									
nt of Chhattisgarh									State : Gov	ernment of Chh	attisgarh
	Post Matric	ST Scholarshi	p					Sanction N	mber : R/1	0/1539/2/7/1003	35
Scholarship Scheme Category	ST							Sanction	Date : 25/0	1/2021	
Institute Name	Govt Girls	College Dante	wada					Applications	Type : Rer	ewal	
Academic Year	2020-21							Tuition Fee		Total Fee	Total Amount
	Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition rec			
tion ID Scident				Renewal	4	300	1200	0	2087	2087	3287
1714103 HEMLATA SALA	м	Female	B. A./Arts/III	Renewal	4	300	1200	0	2062	2062	3262
1545171 NEELA VETTI		Female	B. A./Arts/III	Renewal	4	300	1200	0	2087	2087	3287
1547886 LALITA KURSAN	4	Female	B. A./Arts/III		4	300		0	2087	2087	3287
1712147 NAMRATA YALA	M	Female	B. A./Arts/III	Renewal		300		0	2087	2087	3287
1527604 MINAKSHI SOR	L	Female	B. A./Arts/III	Renewal		300		and a second second second second	2062	2062	3262
1622668 KUSUMLATA N	AG	Female	B. A./Arts/III	Renewal	4	300				2062	3262
1530672 SAVITRI RANA		Female	B. A./Arts/III	Renewal	4						3587
1635424 ARCHANA WEK		Female	B. A./Arts/III	Renewal	5	300					
1548789 SUJATA BURKA		Female	B. A./Arts/III	Renewal	4	300					
1549960 RANITTA BARS	F	Female	B. A./Arts/III	Renewal	4	300	1200	) (	208	200	520

5

5

4

4

4

4

5

4

Renewal

Renewal

Renewal

Renewal

Renewal

Renewal

Renewal

Renewal

300

300

300

300

300

300

300

300

ation :

1549960 RANJITA BARSE

1528811 REETA KASHYAP

1544983 KOUSHILYA NAG

1593354 MAMTA BHASKAR

1501125 GALLO BHASKAR

1539909 KUMARI NETAM

1502712 ANKITA BHOGAMI

1649313 BABITA NO SARNAME

1509422 KAMESHWARI NETAM

d that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs......as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online hip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the te have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signaty & Seal of Head of the Institution) Name (Capital Leters) : NC.

2087

2087

2087

2087

2087

2087

2087

2087

0

0

0

0

0

0

0

0

1500

1500

1200

1200

1200

1200

1500

1200

2087

2087

2087

2087

2087

2087

2087

2087

3587

3587

3287

3287

3287

3287

3587

3287

B. A./Arts/III

Female

Female

Female

Female

Female

Female

Female

Female

Register for Scholar	ship								106555	
Category ST Institute Name Govt. Gir	ric ST Scholarsh						Sanction No Sanction Applications	umber: R/10. h Date: 25/0	emment of Chh: /1539/2/7/1003 1/2021 ewal	-
Academic Year 2020-21	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
518142 SARASWATI TEKAM	Female	B. A./Arts/III	Renewal	4	300	1200	0	2087	2087	3287
615433 LALITA BHASKAR	Female	B. A./Arts/III	Renewal	5	300 <b>Total :</b>	1500 101900		2087 142251	2087 142251	3587 244151

pration :

et that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online p form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seal of Flead of the Institution) Name (Capital Leters) :

This Sanction is generated by Scholarship Potlal. Printed on 1/25/2021

Register for S	Scholarship		
of Chhattisgarh	Dent Matric SC Scholarship	State	Government of Chhattisgarh
	Post Matric SC Scholarship	Sanction Number :	R/10/1539/1/9/100493
Category	Govt Girts College Dantewada	Sanction Date :	20/01/2021
Academic Year		Applications Type :	Renewal
Academic		Tutte for Other	Total Fee Total Amount

atio	ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
157	610 ANDALT KHUNTEY	Female	B. Sc./Science/III	Renewal	4	300	1200	0	2112	2112	3312
					he	Total :	1200	0	2112	2112	3312

tion :

> (Signature & Seal of Head of the Institution) Name (Capital Leters)

> > R. 19.3

This Sanction is generated by Scholarship Portal. Printed on 1/20/2021

	Register for S	Scholarship								100+25	
	Scholarship Scheme :	Post Matric OBC Scholarship							State : Go	vernment of Chi	hattisgarh
	Category							Sanction No	umber: N/1	0/1539/3/10/10	0495
	Institute Name	Govt. Girls College Dantewada						Sanction	n Date: 20/	01/2021	
	Academic Year							Applications	sType: Fre	esh	
caba	n ID Student		Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount

Fresh

Fresh

Fresh

70

70

70

Total :

8

8

8

560

560

560

1680

ration :

1771202 SANGEETA SETHIYA

1840001 LIKESHWARI SAHU

1626142 ITESHWAREE YADAV

Female

Female

Female

B. A./Arts/I

B. A./Arts/I

B. A./Arts/I

that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from 1 to ..... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online relip form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts Ther regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is dejected. (Signature & Seal of Head of the Institution)

Name (Capital Leters) ; na Giris College

1747

1747

1747

5241

0

0

0

0

1747

1747

1747

5241

2307

2307

2307

6921

Dantewads Dietz This Sanction is generated by Scholarship Portal. Printed on 1/20/2021

Female

Female

Female

Female

B. Sc./Science/III

B. A./Arts/II

B. A./Arts/III

B. A./Arts/III

# mment of Chhattisgarh

1837512 MUKTA SEN

1655502 MANGALDAI YADAV

1838278 KAUSHILYA THAKUR

1583452 SANTOSHI SETI

2112

1687

2062

2087

7948

2537

2027

2402

2427

9393

0

0

0

0

0

425

340

340

340

1445

2112

1687

2062

2087

7948

Cal	holarship Scheme	Post Matric OBC Scholarship							State :	Gover	nment of Chh	attisgarh
50	Category :							Sanction Nu	mber :	R/10/1	539/3/10/100	502
		Govt. Girls College Dantewada						Sanction	Date :	20/01/	2021	
And the second second second								Applications	Type :	Renew	wal	
	Academic Year :	2020-21										
dication I	D Student	Name Gender	Course	Туре	No. of Month	Rate	Maintenence	Tuition Fee	Other I	Fee	Total Fee	Total Amount

Renewal

Renewal

Renewal

Renewal

85

85

85

85

Total :

5

4

4

4

5

fied that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online larship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the didate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period ris detected. (Signature & Seal of Head of the Institution)

Name (Capital Leters) South Bastar (C.G.)

This Sanction is generated by Scholarship Portal. Printed on 1/20/2021